Max Marks : 150

All India Trade Test - 2024 for Crafstmen Training Scheme (CTS)
Trade Name: Wireman_Year 2
Year: 2nd Year

Exam Date :
Exam Time :

Note:

1. Tick the correct option out of four alternatives provided
2. All questions carry equal marks (2 Marks each)

3. There is no negative marking

Sr. | Client Question

No. D Question Body and Alternatives
Trade Theory
1 How many earth continuity conductors should be provided from the machine to panel board and to the main earth
electrode?

i | O 91 IR g orf saidere &) fhem ordf S edex UgH fare oA Tnfgw?

Aly

4
A2y
3
2
Ay

1

Trade Theory, | a )

2 Which size of GI conductor is used for Earthing to the motor from the main electrode?

TR 3AGEIS W HIe & forg $iftfr & fore Sheis drgaer & g SR &1 IuanT foa SiTaT 82

Al 14 swG

14 SWG
A2 105w
10 SWG
A g swo
8 SWG
M aswe
4SWG

Trade Theory

3 How.many carth is to be provided for a AC 3 phase induction motor?

TP AC 3 T SS9 Aer & e foram o ue ford S 82

ALy
1
A2y
2
3
Ady

4
Trade Theory

4 How the cable size is determined for industrial wiring?

Marks

2.0

2.0

2.0

2.0

Negative
Marks

0.00

0.00

0.00



3eNfires arafie & forg Frae SR & Fuffea sy

,Al By considering the voltage of circuit

e F It R TR =

?AZ By considering the load resistance
HR UfeRY R AR &=

:A3 By considering the current carrying capacity
P BT HIC A S DI & W faaIR B

{\4 By considering the power factor

TR Thaed R fFaR &

Trade Theory

Which is the permissible power load in a sub circuit as per IE rule?

1E From & 3FuR SU afde ¥ IffRfya faggg yR A A e

fM 800 Watts

800 Watts
A2 1200 Watts

1200 Watts

{\3 2400 Watts

2400 Watts

A% 3000 Watts

3000 Watts

Trade Theory

Which is the thickness of metal conduit pipe for conduit size up to 32'mm as per IE Rule?

IE 1 & SF9R 32 mm T UISY & (oW H1g SFYE UT3U BIHICTE BIF 9l 82

A

120 swG
20 SWG
f‘z 19 SWG
19 SWG

A 3w
32 SWG

:A4 16 SWG

16 SWG
Trade Theory

Which helps both wireman and consumer to select the material according to commercial practice, cost and requirement?

gmmwmﬁﬁmmm,wﬁ&m%ﬁﬂwmmwmﬁﬁmm
?

‘:Al Drawing
ST
:A2 Specification of material
it &1 R e R
{XS Layout
IR
fA‘4 Estimation

TR

Trade Theory

Which is the reason for using bus bar system in workshop for power distribution?

2.0

2.0

2.0

2.0

0.00

0.00

0.00



faroreft faeRur & forw srfare H o9 IR YTl 1 ITTIT B BT SRV 1 82

,Al Occupy less space

SH SATE ORAT

A2 ..
.~ Give neat appearance

-G feg

,AS Easy addition and alterations

ST A SIS SR T
{\4 Withstand over load

3R NS BT WA HRAT

Trade Theory

How many two way switches are required in godown wiring circuit to control four lamps?

IR A 1 FEfa B & g e i afthe # fram ¢ 3 9 3t simazasmar gt 82

Al's

5
A2y
4
Ads
3
Ay

2

Trade Theory

Which is the unit of luminous intensity?

BEESES RG] ECa ek ki

:A] Candela
Candela

52 Lumen
Lumen

?‘3 Lumen/m?
Lumen/m?

.A4 Lumen/watt

Lumen/watt

Trade Theory

Which is defined as that the luminous flux reaching a surface perpendicularly per unit area?

A T U ST &7 & Wi9ad I8 UR Ugd 361 S 34 b gR1 uRHIitd B

{\l Luminous flux
A2 Illuminance
{B Luminous intensity

NEERESIEC]

Lux

RES

A4

Trade Theory

Which is the property of good illumination?

T 3= TIAY P T[0T 132

2.0

2.0

2.0

2.0

0.00

0.00



_Al Should cover huge areca
fa=mer & 1 PR X1 A1y

52 Should have glaring light

WY YT BT AMeY

_A3 Should be low consumption

FHH YU g AT

4 Should not strain the eyes

A

Trade Theory

Which metal is used a filament incandescent lamps?

T U fpamie 5w Tg o1 wanT fan s 32

:Al Nichrome
[SEaL
:A2 Tungsten
e
:A3 Eurcka
et
:A4 Silver
=iy
Trade Theory

What is the name of cap marked as 'x' of incandescent lamp?

ghedc AU P 'x' b ¥U Y Rfed HU BT A 1 82

WMNZALIOE

'A] Edison screw cap

LSEREER
éZ Small bayonet cap

B T Y
:AB Bayonet cap

SRMT $U

{M Giant Edison screw cap
e TSR % U
Trade Theory

Which is coated in the tungsten filament of fluorescent tube lamp?

TARIIE g8 U % e fhamiie & a1 aftd grar 82



Al Barium and strontium oxides
e IR Kifeaw smaags
AZ Mercury

RS

A3 Sodium

qfsTw
54 Phosphor

HRB

Trade Theory
What is the expansion of CFL?

CFL &1 [ER 1 8?

?M Compressed Filament Lamp
Compressed Filament Lamp

f\2 Cathodc Filament Lamp
Cathode Filament Lamp

:A3 Common Fluorescent Lamp
Common Fluorescent Lamp

:A4 Compact Fluorescent Lamp

Compact Fluorescent Lamp
Trade Theory

How stroboscopic cffect is prevented in industrial twin tube light fitting?

i fg g age e # RIS UHIG T B4 T ST 52

_Al By connecting a capacitor parallel to supply

RIS S JHAMITR U YR Bl ST

.AZ By connecting a capacitor parallel to each tube

T gd & THFIMR T JIRA B gy

A . . . ;
R 3 By connecting a capacitor series with one tube

TeTRE ST B TP SE E ASHY

_A4 By connecting a capacitor a series with both tube light

T HUIRA BV &l cgd T8e F 1Y T Jaell Sigdh
Trade Theory

Which type of fluorescent tube lamps are used for dimming and flashing circuits?

5 UPR P TIRIGC S 9T &1 SuanT B 3R wifedT afbe 3 i fear smarg?

{\1 Instant start fluorescent lamp

e W wRNe a0
A2 .
.~ Rapid start fluorescent tube lamp

s wré wiRNiT e o
A3 .
.~ Fluorescent lamp single tube lamp

TR &0 RfTe o &g
A4
" Fluorescent lamp double tube lamp

RN o0 8¢ o a

Trade Theory

Which position the MA type HPMV lamp is to be hung for lighting?

THTI SHTRIT & I MA T80 HPMV 3T ) o fRufa & e faar smee



Al Horizontally
{\2 Vertically
ErEEal
A3 Inclined
s E s.g

54 Any position

foft oft fRufey &

Trade Theory

What is the name the part marked as 'x' in High Pressure sodium vapour lamp? 2.0 0.00

I <aTd 910 QfSTH IR AT A x' S TG H YA 67 19 1 82

WML Crd

_Al Electrode

3é aij S
Az ARC tube
ARC &Jd

f% Base

99

,A4 Sodium vapour

Rlicpticieny

Trade Theory

Which colour light sodium vapour lamp gives? 2.0 0.00

JFETH IR Y B T BT U1 a1 82

A

! Yellow
dier
A% White
e

Blue white

RISIEETA

4 Blue

BISI]

A3

A

Trade Theory

Which part of sodium vapour lamp fitting provides the ignition voltage initially and acts as a choke for limiting the current 2.0 0.00

subsequently?

Qifeaa arsg dwg BT 11 I1 U IRY § SRR diecs Te HdT € 3R €1¢ § e &) Hftrd e & e
b BT HTH BT 87

'A] Ignitor



TR

,A2 Leak transformer

Hpet graBER
?'\3 Capacitor
HerRa
:A4 Thermal starter

e W

Trade Theory
Which is represented by the symbol?

Tl gRT feget ufafAfire foran S 82

o

ANODE CATHOOE

WINZ4L1 QT

'A ! Photovoltaic cell

BrRdded ad
_Az LDR
LDR

AS NTC resistor

NTC UfeRIY
A4 1 ED

LED
:Traic Theory

Which lamp acts only as switch instead of giving light?

BN I A GBI & b T e (&I Bl TH PR 87

Al 1Ep

LED
:A2 Miniature lamp.
fafeeR oy
?M Flasher

TRIRR
.A4 Carbon filament lamp

Fre fharic dg

Trade Theory

Which element is used as semi conductor?
I 1 A Qi gae’ & = B 7T forar S 2
:Al Silver
it
?A‘z Silicon
Raferta

_A3 Copper



26

27

28

29

26

28

29

GIEl
,A4 Aluminium

Sreguitag

Trade Theory
How the N type semi conductor is formed?

N - YR i dheaex B8 1 87

A

! Germanium with aluminium
SRI® & T TR aH
5A2 Silicon with antimony
foferep T Tt o Ay
:A3 Silicon with iridium
SRfEaw Riferei= & wry
:A4 Silicon with boron

IRME & 1y Ryfere

Trade Theory

Which element is used as impurity to provide ‘N’ type semi conductor?

D @ N UHR Y Haex TaH FRA & forg Trgfer & Fu & v fomar S g2

'Al Arsenic
S
2 Aluminium

,A3 Gallium

e

Al

i 4 Boron

IRH

iTraic Theory

How the P - type semiconductor is formed?

P - UPR 3faTae Y F1T S 82

{\l Germanium with phosphorus

BRGRY & G T gy
:A2 Silicon with aluminium
fean & iy R
? Germanium with antimony

T Iy ST

4 . . -
Germanium with aluminium

3feTm & gy s ATE

A

A

Trade Theory
What does the depletion region behave?

o e $d1 agR B 82

_Al Conductor
HSIR

52 Insulator

RS IRd

_A3 Semi conductor

2.0

2.0

2.0

0.00

0.00



It FEHeR
,A4 Resistor

IR

Trade Theory

30 30 What does letter ‘2N’ indicate in the semiconductor device?

N fefEITeTeD gfak A T e 82

:Al The diode PN junctions
PN SIeRI SIS

éz The number of terminals
efifal &1 g

_A3 The device power

feayg Ui
A4 Two junction device

< SR Sy

31 31 What is the use of LED?

LED & SUGNT &1 82

Al Ty rectify AC to DC

o &1 S A Seen

52 To reduce the ripple

Rua sl HAHA & ol

.A3 To regulate the voltage

diees B FfId B & fog

54 To indicate light

YT B 1 P oy

Trade Theory

=Traa_c Theory

32 32 ‘What is the PIV of the diode if the AC input voltage is 24V?

TfE AC 3TYC dieeol 24V B 1 STIS &I PIV. T ?

Al gy

32V
:AZ B3V
3y
Mgy

34V
Ad 35y

36V

33 33 What is the expansion of PIV?
PV & R T §?

:Al Peak Input Voltage
Peak Input Voltage

?AZ Positive Inverse Voltage
Positive Inverse Voltage

{\3 Peak Inverse Voltage

Trade Theory

2.0

2.0

2.0

0.00

0.00



34

35

36

34

35

36

Peak Inverse Voltage

54 Phase Inverse Voltage

Phase Inverse Voltage

Trade Theory

What is the relation between input AC voltage (V 5¢) and output DC voltage (V) in full wave rectifier?

T 39 YFRHRR T 3G TH dIees (V) 3R 3M3eye SR a1 (Vi) & ST dey 1 32

Al vy =045V,
Ve =045 Vo
AZ V4 =0.637 Vg
Ve =0.637V,,
A3 V4 =0707V,
Ve =0.707 V.
A% V=09V,
Vie=0.9 Ve

Trade Theory
What type of filter is illustrated?

59 YR &1 ftheer A 82

-

—e —— — & —

AC FULL WAVE
INPUT RECTIFIER

—e — — — 5 —

EL281212

A

! PI filter
Pl flheeR
:AZ Series Inductor filter
TR 3R ftheeR
3 RC filter
RC fiheex
:A4 Choke input LC filter

e FTYC LC e

A

Trade Theory

What is the name of maximum reverse voltage the diode can with stand?

SIS Bt fay W W i ay Rad aicesl &1 o 71 82

_Al Knee voltage
RIS

_Az Barrier voltage

IR et

.AS Peak inverse voltage

e $7ad diecal
4 Cut in voltage

e 3 dleedl

A

Trade Theory

2.0

2.0

0.00



3737 What is the barrier potential for silicon diode?

fyferpi= srte & forg Sfver TR am g2

Trade Theory
38 38 Identify the component symbol represents.

Yoo oy Udies BT Uit Hdl g Ugam?

Ao

C

WRMMATLAGSE

A

1 Diode

IS

AZ Diac

SRP

A3 1ED
LED

54 Zener diode

IR A

Workshop Calculation Science

39 39 What is the formula for (a—b)z?

(a-b)? T G 8?2
l a® - 2ab + b?
2%~ 2ab +b?
2 a® + 2ab + b?
a2+ 2ab + b?
?U a® - 2ab - b?
a® - 2ab - b?
-a2 - 2ab - b2

A4

-a2 - 2ab - b2

Workshop Calculation Science

40 40 What is the value of a x a2 x a® x a4 ?

axa?xadxat PTHH AT E?

2.0

2.0

2.0

0.00

0.00

0.00



Workshop Calculation Science

4 41 What is the value of 625°?

625° T HIF &1 87

Al

0

vy
1
A sas
525
Ad s
25

Workshop Calculation Science

42 42 Which type of stress?

PI-1 ufded 22

e

:Al Tensile stress
GECEIRES!

2 Compressive stress
Ffte gfed

:AB Shear stress

e gfree
54 Torsional stress

ERSERRIGES

Al

Workshop Calculation Science

43 43 What is the unit of strain?

fogfa ot s wT R

Al
Kg/cm2
Kg/cm2

A2
. Newton/metre?

Newton/metre?
{\3 Metre

Metre

2.0

2.0

2.0

0.00



A4 No unit
No unit

Workshop Calculation Science

Which symbol is used to express change in length?

TS B yRad o b Tebd & giiar e 2

o
L
A2 5
l
A3
I

A4
e

Engineering Drawing
Identify the wave form.

99 BTH ! TgaH

.
EDNGH S o

Al
. Square wave
®WR9q

62 Sine wave
RIERKC]
_AS Triangle wave

[ECaLEE]

A

4 Saw-tooth wave

diguda
Engineering Drawing
What is the name of the symbol?
el BT AR E?

-+

ECNGA9211008

{\1 Microphone

HIZHIBH

'AZ Dynamic microphone

SIS AHIHIA



AS Condenser microphone

Y A
54 Loud speaker

q3s WiaR

Engineering Drawing

47 47 Identify the given symbol

few e udfier &1 ug=m

DC
Ohms
3y

54 Inductance

T i Tl

A3

Engineering l?ra\?zing
48 48 What is the name of the gate
e &1 T8 1 8

?Al NOT Gate
NOTE

:A2 Ex-NOR Gate
Ex-Nor ﬁ—cr

?Ad OR Gate

OR T

AND Gate

AND Tl

A4

Engineering Drawing
49 49 Which is photo diode?

B SIS B AR

Al

2.0

2.0

2.0

0.00

0.00



A2

A3

A4

Engineering Drawing

50 50 Which of the following is AC ammeter?

frafafea & ¥ & Ac THieR &2

Al

ECa

A3

A4

®
@

Employability Skills

51 51 Complete the sentence with suitable describing words It is a neighbourhood. One need not fear. 2.0 0.00

Complete the sentence with suitable describing words It is a neighbourhood. One need not fear.




Al good

good
:A2 big
big
_AS safe
safe
expensive
expensive
Employability Skills

Complete the sentence with suitable describing words There isn’t any amusement park in the area. Itisa___ place.
Complete the sentence with suitable describing words There isn’t any amusement park in the area. Itisa ___ place.

{\1 polluted

polluted

52 dry

dry
A3 .
.~ noisy
noisy
'A4 boring
boring

Employability Skills

Complete the sentence with suitable describing words There is a factory in the,area. The air is
Complete the sentence with suitable describing words There is a factory in.the area. The air is

! polluted
polluted
52 boring
boring
3
uneven
uneven
4 .
noisy
noisy
Employability Skills
Complete the sentence with suitable describing words There is water scarcity in the locality. The area is
Complete the sentence with suitable describing words There is water scarcity in the locality. The area is
1
uneven
uneven
A2 .
noisy
noisy
A dry
dry
.A4 boring
boring

Employability Skills

Complete the sentence with suitable describing words The transportation to some rural areas is difficult as the roads
are

Complete the sentence with suitable describing words The transportation to some rural areas is difficult as the roads
are



Al dry

dry

:A2 polluted
polluted

:A3 boring
boring

uneven

uneven
Employability Skills

56 |56 What help us to maintain the balance between mental and physical activities?
What help us to maintain the balance between mental and physical activities?

A

! Hobbies
Hobbies
f\Z Running
Running
:A3 Walking
Walking
,A4 Reading

Reading
Employability Skills

57 57 When you meet the instructor inside or outside the ITI, it is....
When you meet the instructor inside or outside the ITI, it is. ...

Al always formal

always formal
52 . formal inside the ITT
. formal inside the ITI
3 informal the ITI
informal the ITI
4. .
informal outside
informal outside
Employability Skills
58 |58 Role models people to follow them
Role models people to follow them
{\1 elevate
clevate
2 instruct
instruct
3. .
inspire
inspire
4 motivate

motivate
Employability Skills

59 59 Spoken communication is usually not only but also

Spoken communication is usually not only but also

'AI formal, informal



formal, informal
2 verbal, nonverbal
verbal, nonverbal
3 verbal, informal
verbal, informal
A4

. formal, nonverbal

formal, nonverbal
Employability Skills
60 60 The immediate surroundings to the place you live in is called
The immediate surroundings to the place you live in is called

.Al village

village
,Az town
town
53 city
city
%4 neighbourhood

neighbourhood
Employability Skills
61 61 The conditions in a place that affect the behaviour and development of somebody or something is called
The conditions in a place that affect the behaviour and development of somebody or something is called

fM neighbourhood
neighbourhood
2 .
environment
environment
‘_AS locality
locality
A% g cilities
facilities
Employability Skills

62 62 Which kind of persons-are with very good behaviour, achievements and lead as an example?
Which kind of persons are with very good behaviour, achievements and lead as an example?

! customer service executives
customer service executives

:A2 ITLinstructors
ITI instructors

,A3 role models
role models

4 .
sales supervisors

sales supervisors
Employability Skills

63 63 ----the park.

----the park.

1
are, next to

are, next to

2.0

2.0

2.0

2.0

0.00

0.00

0.00



2.
18, next to
is, next to
3.
1S, next
is, next
4
are, next
are, next

64 64 Rainwater harvesting -------------
Rainwater harvesting —------------

Al .
. gives

gives
A2

gave

gave
{\3 help

help
_A4 helps
helps

65 65 Identify the opposites. clean x -
Identify the opposites. clean x ---

AL irty, health
dirty, health

:A2 . dirty, healthy

. dirty, healthy

f“ dirt, unhealthy
dirt, unhealthy

54 dirty, unhealthy
dirty, unhealthy

66 66 Which one is not an adventure?
Which one is not an adventure?

! climbing mountains
climbing mountains
f\Z trekking
trekking
3 surfing
surfing
:A4 driving

driving

! voyage
voyage

'AZ boating

Employability Skills

to prevent water scarcity
to prevent water scarcity

Employability Skills
, healthy x -

Employability Skills

Employability Skills

67 67 Travelling in the sea is called a
Travelling in the sea is called a

2.0

2.0

2.0

2.0

0.00

0.00



boating

_A3 fishing

fishing
A4
. tour

tour

Employability Skills
68 68 There are many dos and don’ts to be --------while preparing for/ attending an

There are many dos and don’ts to be --------while preparing for/ attending an
A

. 1 there, interview
there, interview

A2 S dentify,
identify,

3. . . .
identified, interviewed
identified, interviewed

A4 identified, interview

identified, interview
Employability Skills

69 69 Always ----=--mn-mm- your mobile phone ----- silent mode.
Always -------n-mnn-- your mobile phone ----- silent mode.

fM know, in
know, in
52 know, of

know, of
A

3 keep, in
keep, in
‘_A4 keep, of

keep, of
Employability Skills

70 70 The Everest, the --
The Everest, the --

-- peak in the world, ----------- in Tibet.
-=peak in the world, ----------- in Tibet.

Al pioh. is

high, is
A

2 higher, is
higher, is
'A} highest, are

highest, are
:A4 highest, is

highest, is
Employability Skills

71 71 Which language is essential to become a Computer professional?
Which language is essential to become a Computer professional?

'Al Mother tongue

Mother tongue
.AZ Chinese

Chinese



AS English
English
A% Hindi
Hindi
Employability Skills
Which is the Synonym for "loyal"?
Which is the Synonym for "loyal"?

A

! Faithful
Faithful
f\2 Prosperous

Prosperous
:A3 Utopian

Utopian
{\4 Perfect

Perfect
Employability Skills

When you speak to your supervisor, you should be
When you speak to your supervisor, you should be

:Al Aggressive
Aggressive

:A2 Formal
Formal

'A3 Informal
Informal

A4 Casual

Casual
Employability Skills

Which one is the describing word from among the words given?
Which one is the describing word from among the words given?

fM Mobile phone
Mobile phone
§A2 Water
Water
A pun
Pull

‘_A4 Magnificent

Magnificent
Employability Skills
A sentence is a sentence that expresses a direct , command, invitations, warning or instruction.
A sentence is a sentence that expresses a direct , command, invitations, warning or instruction.
1.
simple
simple

2 compound
compound

3. .
imperative



imperative
‘_IM adjective
adjective




Wireman - 2nd year (Eng) SET 2

Question Number

Correct Alternative position

1 A3
2 A3

3 A2
4 A3

5 A4

6 A4

7 A2

8 A3

9 A3
10 A1
11 A2
12 A4
13 A2
14 A3
15 A1
16 A4
17 A3
18 A2
19 A2
20 A2
21 A1
22 A2
23 A4
24 A3
25 A2
26 A2
27 A1
28 A2
29 A2
30 A4
31 A4
32 A3
33 A3
34 A4
35 A2
36 A3
37 A3
38 A4
39 A1
40 A4
41 A2
42 A3
43 A4
44 A2
45 A2




46 A3
47 A1
48 A4
49 A3
50 A1
51 A3
52 A4
53 A1
54 A3
55 A4
56 A1
57 A1
58 A3
59 A2
60 A4
61 A2
62 A3
63 A2
64 A4
65 A4
66 A4
67 A1
68 A4
69 A3
70 A4
71 A3
72 A1
73 A2
74 A4
75 A3
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